

SOME CONSEQUENCES OF DRIMBE INEQUALITY

MIHÁLY BENCZE¹, MARIUS DRAGAN²

Manuscript received: 22.04.2012; Accepted paper: 11.11.2012;

Published online: 01.03.2013.

Abstract. In this paper we present a refinement of inequality: $\frac{\sum \sin A}{2} \geq \frac{5}{4} + \frac{r}{2R}$ who are true in any acute triangle ABC and some consequences of DRIMBE inequality.

Keywords: concave function, acute triangle, refinement of inequality.

MAIN RESULTS

Theorem 1. Let $f : I \rightarrow R$ be a derivable and convex function on the set I , f' is either convex or concave function on the set I , $x, y, z \in I$. Then:

$$\begin{aligned} f(x) + f(y) + f(z) + 3f\left(\frac{x+y+z}{3}\right) &\geq f\left(\frac{2x+y}{3}\right) + f\left(\frac{2y+x}{3}\right) + f\left(\frac{2y+z}{3}\right) + \\ &+ f\left(\frac{2z+y}{3}\right) + f\left(\frac{2x+z}{3}\right) + f\left(\frac{2z+x}{3}\right) \geq 2\left[f\left(\frac{x+y}{2}\right) + f\left(\frac{y+z}{2}\right) + f\left(\frac{z+x}{2}\right)\right] \end{aligned} \quad (1)$$

Proof: see [1].

Theorem 2. Let $f : I \rightarrow R$ be a convex function on the set I , $x, y, z \in I$. Then:

$$\begin{aligned} f(x) + f(y) + f(z) + f\left(\frac{2x+y}{3}\right) + f\left(\frac{2y+z}{3}\right) + f\left(\frac{2z+x}{3}\right) &\geq \\ \geq 2\left[f\left(\frac{x+2y}{3}\right) + f\left(\frac{y+2z}{3}\right) + f\left(\frac{z+2x}{3}\right)\right] \end{aligned} \quad (2)$$

Proof: see [1].

Theorem 3. Let $f : I \rightarrow R$ be a convex and derivable function on the set I , f' let be or convex or concave function on the set I , $x, y, z \in I$, $S \in R^*$. Then:

¹ *Aprily Lajos* National College of Brasov, 500026 Brasov, Romania. E-mail: benczemihaly@gmail.com.

² *Mircea cel Batran* Technical College, 012207 Bucuresti, Romania.

$$\begin{aligned}
& f(x) + f(y) + f(z) + f\left(\frac{(S-2)x+y+z}{S}\right) + f\left(\frac{(S-2)y+z+x}{S}\right) + f\left(\frac{(S-2)z+x+y}{S}\right) \geq \\
& \geq 2 \left[f\left(\frac{(S-1)x+y}{S}\right) + f\left(\frac{(S-1)x+z}{S}\right) + f\left(\frac{(S-1)y+z}{S}\right) + f\left(\frac{(S-1)y+x}{S}\right) + \right. \\
& \left. + f\left(\frac{(S-1)z+x}{S}\right) + f\left(\frac{(S-1)z+y}{S}\right) \right] \geq 2 \left[f\left(\frac{x+y}{2}\right) + f\left(\frac{x+z}{2}\right) + f\left(\frac{z+y}{2}\right) \right]
\end{aligned} \tag{3}$$

Proof: see [1] page 301

If we take $S=3$ we shall obtain (1)

In the following we shall give a refinement of inequality: $\frac{\sum \sin A}{2} \geq \frac{5}{4} + \frac{r}{2R}$ we are proved in [2], who are true in any acute triangle.

Corollary 1.1. In all acute triangle ABC holds:

$$\frac{5}{4} + \frac{r}{2R} \leq \frac{1}{2} \left(\frac{\cos(A-B)}{3} + \frac{\cos(B-C)}{3} + \frac{\cos(C-A)}{3} \right) \leq \frac{\sin A}{2} + \frac{\sin B}{2} + \frac{\sin C}{2}$$

Proof: In (1) we take: $x = A, y = B, z = C$ and $f: \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}, f(x) = \cos x$ a concave function with f' a convex function. Because:

$$\begin{aligned}
& \cos A + \cos B + \cos C + \frac{3 \cos \pi}{3} \leq \frac{\cos(B+2C)}{3} + \frac{\cos(B+2A)}{3} + \frac{\cos(C+2A)}{3} + \\
& + \frac{\cos(C+2B)}{3} + \frac{\cos(A+2C)}{3} + \frac{\cos(A+2B)}{3} = \\
& = \cos\left(\frac{\pi}{3} - \frac{A-C}{3}\right) + \cos\left(\frac{\pi}{3} + \frac{A-C}{3}\right) + \cos\left(\frac{\pi}{3} - \frac{A-B}{3}\right) + \\
& + \cos\left(\frac{\pi}{3} + \frac{A-B}{3}\right) + \cos\left(\frac{\pi}{3} - \frac{B-C}{3}\right) + \cos\left(\frac{\pi}{3} + \frac{B-C}{3}\right) \leq \\
& \leq 2 \left(\frac{\sin A}{2} + \frac{\sin B}{2} + \frac{\sin C}{2} \right)
\end{aligned}$$

Because $\cos\left(\frac{\pi}{3} + x\right) + \cos\left(\frac{\pi}{3} - x\right) = \cos x$ and $\cos A + \cos B + \cos C = \frac{R+r}{R}$ it shall result the inequality of the statement.

Corollary 1.2. In all triangle ABC holds:

$$\sum \cos \alpha \frac{A-B}{3} \geq 3^{1-\alpha} \left(\frac{5}{2} + \frac{r}{R} \right)^\alpha \text{ for } \alpha \geq 1$$

Proof: It follows from corollary 1.1. and inequality: $\sum x^\alpha \geq 3^{1-\alpha} (\sum x)^\alpha$, for $\alpha \geq 1$

Corollary 1.3. In all acute triangle ABC holds:

$$\frac{P}{R} + \frac{3\sqrt{3}}{3} \leq \sqrt{3} \left(\frac{\cos(A-B)}{3} + \frac{\cos(B-C)}{3} + \frac{\cos(C-A)}{3} \right) \leq 2 \left(\frac{\cos A}{2} + \frac{\cos B}{2} + \frac{\cos C}{2} \right)$$

Proof: We shall consider the concave function $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \sin x$. From (1) it shall result:

$$\begin{aligned} \sin A + \sin B + \sin C + \frac{3 \sin \pi}{3} &\leq \sin \left(\frac{\pi}{3} + \frac{A-C}{3} \right) + \sin \left(\frac{\pi}{3} - \frac{A-C}{3} \right) + \sin \left(\frac{\pi}{3} + \frac{A-B}{3} \right) + \\ &+ \sin \left(\frac{\pi}{3} - \frac{A-B}{3} \right) + \sin \left(\frac{\pi}{3} + \frac{B-C}{3} \right) + \sin \left(\frac{\pi}{3} - \frac{B-C}{3} \right) \leq \\ &\leq 2 \left(\frac{\cos A}{2} + \frac{\cos B}{2} + \frac{\cos C}{2} \right) \end{aligned}$$

or

$$\frac{P}{R} + \frac{3\sqrt{3}}{3} \leq \sqrt{3} \left(\frac{\cos(A-B)}{3} + \frac{\cos(B-C)}{3} + \frac{\cos(C-A)}{3} \right) \leq 2 \left(\frac{\cos A}{2} + \frac{\cos B}{2} + \frac{\cos C}{2} \right)$$

Corollary 1.4. In all triangle ABC holds:

$$\sum \cos \alpha \frac{A-B}{3} \geq 3 \frac{2-3\alpha}{2 \left(\frac{P}{R} + \frac{3\sqrt{3}}{2} \right)^\alpha}, \alpha \geq 1$$

Proof: It follows from corollary 1.3. and inequality: $\sum x^\alpha \geq 3^{1-\alpha} (\sum x)^\alpha$ for $\alpha \geq 1$

Corollary 1.5: In all triangle ABC holds:

$$\begin{aligned} \frac{\cos A}{2} + \frac{\cos B}{2} + \frac{\cos C}{2} + \frac{3\sqrt{3}}{2} &\leq \sqrt{3} \left(\frac{\cos(A-B)}{6} + \frac{\cos(B-C)}{6} + \frac{\cos(C-A)}{6} \right) \leq \\ &\leq 2 \left(\frac{\cos(\pi-A)}{4} + \frac{\cos(\pi-B)}{4} + \frac{\cos(\pi-C)}{4} \right) \end{aligned}$$

Proof: It follows from (1) for the concave function: $f : (0, \pi) \rightarrow \mathbb{R}$, $f(x) = \frac{\cos x}{2}$ with the f' convex function.

Remark. If the angles of a triangle ABC are acute result $\pi - 2A, \pi - 2B, \pi - 2C$ are angles of a triangle. If we replace in corollary 1.5. we shall obtain the corollary 3 (1.3 ???).

Corollary 1.6. In all triangle ABC holds:

$$\begin{aligned} \frac{\sin A}{2} + \frac{\sin B}{2} + \frac{\sin C}{2} + \frac{3}{2} &\leq \frac{\cos(A-B)}{6} + \frac{\cos(B-C)}{6} + \frac{\cos(C-A)}{6} \leq \\ &\leq 2 \left(\frac{\sin(\pi-A)}{4} + \frac{\sin(\pi-B)}{4} + \frac{\sin(\pi-C)}{4} \right) \end{aligned}$$

Proof: It follows from (1) for $f : (0, \pi) \rightarrow \mathbb{R}$, $f(x) = \frac{\sin x}{2}$ concave with f' concave.

Remark. For an acute triangle ABC considering $A \rightarrow \pi - 2A, B \rightarrow \pi - 2B, C \rightarrow \pi - 2C$ we shall obtain the corollary 1.1.

Corollary 1.7. In all acute triangle ABC holds:

$$1) \sum \cos^k A + 3/2^k \geq \sum \left(\cos^k \frac{2A+B}{3} + \cos^k \frac{2B+A}{3} \right) \geq 2 \sum \sin^k \frac{A}{2} \text{ if } k < 0$$

$$2) \sum \cos^k A + 3/2^k \leq \sum \left(\cos^k \frac{2A+B}{3} + \cos^k \frac{2B+A}{3} \right) \leq 2 \sum \sin^k \frac{A}{2} \text{ if } k \in \left[\frac{0,2}{3} \right]$$

Proof. We shall consider the function:

$$f : \left(0, \frac{\pi}{2} \right) \rightarrow \mathbb{R}, f(x) = \cos^k x,$$

$$f''(x) = -k \cos^{k-2} x (1 - k \sin^2 x) = -k \cos^{k-2} x (\cos^2 x + (1-k) \sin^2 x)$$

If $k < 0$, f is a convex function and for $k \in \left[\frac{0,2}{3} \right]$, f is concave.

Also: $(f')' = k \cos^{k-1} x \sin x (3k - 2 - k^2 \sin^2 x)$. If $k < 0$ f' is a convex function and if $k \in \left[\frac{0,2}{3} \right]$, f' is a concave function.

From (1) it shall result for $k < 0$:

$$\sum \cos^k A + \frac{3}{2^k} \geq \sum \left(\cos^k \frac{2A+B}{3} + \cos^k \frac{2B+A}{3} \right) \geq 2 \sum \cos^k \frac{A+B}{2} = 2 \sum \sin^k \frac{A}{2}$$

and for $k \in \left[\frac{0,2}{3} \right]$ the reverse of this inequality.

Corollary 1.8. In all acute triangle ABC holds:

$$\begin{aligned} & \sum \sin^k A + (3(k+2)/2) / 2^k \geq \\ 1) & \geq \sum \left[\sin^k k(2A+B)/3 + \sin^k k(2B+A)/3 \right] \geq \quad \text{if } k < 0 \\ & \geq 2 \sum \cos^k A / 2 \\ & \sum \sin^k A + (3(K+2)/2) / 2^k \leq \\ 2) & \leq \sum \left[\sin^k k(2A+B)/3 + \sin^k K(2B+A)/3 \right] \leq \quad \text{if } k \in \left[\frac{0,2}{3} \right] \\ & \leq 2 \sum \cos^k A / 2 \end{aligned}$$

Proof. We shall consider the function $f: \left[0, \frac{\pi}{2}\right] \rightarrow \mathbb{R}$, $f(x) = \sin^k x$,
 $f''(x) = k \sin^{k-2} x [-\sin^2 x + (k-1) \cos^2 x]$.

For $k < 0$ f is convex and for $k \in \left[\frac{0,2}{3}\right]$ f is concave.

$$\text{Also: } (f')'' = k \sin^k (k-3) x \cos x (-3k+2+k^2 \cos^2 2x)$$

So, f' is concave for $k < 0$ and convex for $k < 0$.

Applying inequality (1) for $k < 0$ we obtain:

$$\sum \sin^k A + \left(\frac{\sqrt{3}}{2}\right)^k \geq \sum \left[\sin^k \left(\frac{2A+B}{3}\right) + \sin^k \left(\frac{2B+A}{3}\right) \right] \geq 2 \sum \sin^k \frac{B+C}{2}$$

or

$$\sum \sin^k A + \frac{3^{\frac{k+2}{2}}}{2^k} \geq \sum \left[\sin^k \frac{2A+B}{3} + \sin^k \frac{2B+A}{3} \right] \geq 2 \sum \cos^k \frac{A}{2}$$

For $k \in \left[\frac{0,2}{3}\right]$ we obtain the reverse of the inequality.

Corollary 1.9. In all acute triangle ABC holds :

1) ???

$$\begin{aligned} & \sum \cos^k A + (3(k+2)/2) / 2^k \leq \\ 2) & \leq \sum \left(\cos^k k(2A+B)/6 + \cos^k k(2B+A)/6 \right) \leq \quad \text{if } k \in \left[\frac{0,2}{3} \right] \\ & \leq 2 \sum \cos^k (\pi - A) / 4 \end{aligned}$$

Proof. We shall consider the function

$$f: \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}, \quad f(x) = \cos^k \frac{x}{2},$$

$$f''(x) = -\frac{k}{4} \cos^{k-2} \frac{x}{2} + \left(\cos^2 \frac{x}{2} (1-k) \sin^2 \frac{x}{2} \right)$$

convex for $k < 0$ and concave for $k \in \left[\frac{0,2}{3} \right]$ with f' convex for $k < 0$ and concave for $k \in \left[\frac{0,2}{3} \right]$.

From (1) resulting the requirement.

Corollary 1.10. In all acute triangle ABC holds:

$$\begin{aligned} & \sum \left[\sin^{\uparrow k} A / 2 + 3 / 2^{\uparrow k} \right] \geq \\ 1) & \geq \sum \left[\left[\sin^{\uparrow k} k(2A+B) / 6 + \left[\sin^{\uparrow k} k(2B+A) / 6 \right] \right] \geq \quad \text{if } k < 0 \\ & \geq 2 \sum \left[\sin^{\uparrow k} k(\pi - A) / 4 \right] \end{aligned}$$

$$\begin{aligned} & \sum \left[\sin^{\uparrow k} A / 2 + 3 / 2^{\uparrow k} \right] \leq \\ 2) & \leq \sum \left[\left[\sin^{\uparrow k} k(2A+B) / 6 + \left[\sin^{\uparrow k} K(2B+A) / 6 \right] \right] \leq \quad \text{if } k \in \left[\frac{0,2}{3} \right] \\ & \leq 2 \sum \left[\sin^{\uparrow k} k(\pi - A) / 4 \right] \end{aligned}$$

Proof. We shall consider the function: $f : \left(0, \frac{\pi}{2} \right) \rightarrow \mathbb{R}$, $f(x) = \sin^k \frac{x}{2}$,
 $f''(x) = -\frac{k}{4} \sin^{k-2} \frac{x}{2} \frac{x}{2 \left((1-k)^2 \cos^2 \frac{x}{2} + \sin^2 \frac{x}{2} \right)}$ convex for $k < 0$ and concave for $k \in \left[\frac{0,2}{3} \right]$,
 f' concave for $k < 0$ and convex for $k \in \left[\frac{0,2}{3} \right]$.

From inequality (1) inequality follows from the statement.

In the following we give two refinements of the inequalities:

$$\begin{aligned} \sum ctg \frac{A}{2} & \leq \frac{pr}{p^2 - (2R+r)^2} + \frac{3\sqrt{3}}{2} \\ & \text{and} \\ \sum tg \frac{A}{2} & \leq \frac{p^2 - 4Rr - r^2}{4Rp} + \frac{\sqrt{3}}{2} \end{aligned}$$

belonging to [2] who are true in any acute triangle.

Corollary 1.11. In all acute triangle ABC holds:

$$\begin{aligned} 1) & \sum ctg A / 2 \leq 1/2 \sum (tg(2A+B) / 3 + tg(2B+A) / 3) \leq pr / \left(p^{\uparrow 2} - (2R+r)^{\uparrow 2} \right) + (3\sqrt{3}) / 2 \\ 2) & \sum (tg(2A+B) / 3 + tg(2B+A) / 3) \geq 2p / r. \end{aligned}$$

Proof.

- 1) Applying to convex function f , $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \operatorname{tg} x$ with the derivative convex the inequality (1) and because $\sum \operatorname{tg} A = \frac{2pr}{p^2 - (2R+r)^2}$ it follows the inequality of the statement.
- 2) It follows from point 1) and equality: $\sum \operatorname{ctg} \frac{A}{2} = \frac{p}{r}$.

Corollary 1.12. In all acute triangle ABC holds:

- 1) $\sum \operatorname{tg} A / 2 \leq 1/2 \sum (\operatorname{ctg}(2A+B)/3 + \operatorname{ctg}(2B+A)/3) \leq (p^2 - 4Rr - r^2) / 4pr + \sqrt{3}/2$
- 2) $\sum (\operatorname{ctg}(2A+B)/3 + \operatorname{ctg}(2B+A)/3) \geq (8R+2r)/p$.

Proof.

- 1) Applying to the convex function f with the derivative f' concave, $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \operatorname{ctg} x$ the inequality (1) and from $\sum \operatorname{ctg} A = \frac{p^2 - 4Rr - r^2}{2pr}$ it follows the inequality of the statement.
- 2) It follows from point 1) and identity: $\sum \operatorname{tg} \frac{A}{2} = \frac{4R+r}{p}$.

Corollary 1.13. In all acute triangle ABC holds:

$$\operatorname{tg}^2 \frac{\pi-A}{4} \operatorname{tg}^2 \frac{\pi-B}{4} \operatorname{tg}^2 \frac{\pi-C}{4} \geq \prod \operatorname{tg} \frac{2A+B}{6} \prod \operatorname{tg} \frac{2B+A}{6} \geq \frac{\sqrt{3}}{9} \frac{r}{p}.$$

Proof. In (1) consider the concave function with derivative f' convex $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \ln\left(\operatorname{tg} \frac{x}{2}\right)$

Corollary 1.14. In all triangle ABC holds:

$$\frac{3\sqrt{3}}{16} \frac{pr}{R^2} \leq \frac{\prod \sin(2A+B)}{3} \prod \sin(A+2B)}{3} \leq \frac{p^2}{16R^2}.$$

Proof. We shall consider the concave function with the derivative a convex function $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \ln(\sin x)$ in the inequality(1).

Corollary 1.15. In all acute triangle ABC holds:

$$\frac{p^2 - r^2 - 4Rr - 4R^2}{32R^2} \geq \frac{\prod \cos(2A+B)}{3} \prod \cos(A+2B)}{3} \geq \frac{r^2}{16R^2}$$

Proof. We shall consider the function $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \ln(\cos x)$ concave with f' concave in inequality (1). It shall result:

$$\frac{\prod \cos A \frac{1}{8} \geq \frac{\prod \cos(2A+B)}{3} \prod \cos(A+2B)}{3} \geq \prod \sin^2 \frac{A}{2}$$

and because $\prod \cos A = \frac{p^2 - r^2 - 4Rr - 4R^2}{4R^2}$ and $\prod \sin^2 \frac{A}{2} = \frac{r^2}{16R^2}$. It shall result the required inequality.

Corollary 1.16. In all acute triangle ABC holds:

$$\sum \frac{1}{\frac{\cos A}{2}} \leq \frac{1}{2} \sum \left(\frac{1}{\frac{\sin(2A+B)}{3}} + \frac{1}{\frac{\sin(A+2B)}{3}} \right) \leq \frac{p^2 + r^2 + 4Rr}{4ep} + \sqrt{3}$$

Proof. We shall consider the function $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \frac{1}{\sin x}$ convex with f' concave. From inequality (1) and identity: $\sum \frac{1}{\sin A} = \frac{p^2 + r^2 + 4Rr}{2pr}$ it follows the inequality of the statement.

Corollary 1.17. In all acute triangle ABC holds:

$$\sum \frac{1}{\frac{\sin A}{2}} \leq \frac{1}{2} \sum \left(\frac{1}{\frac{\cos(2A+B)}{3}} + \frac{1}{\frac{\cos(A+2B)}{3}} \right) \leq \frac{7p^2 - 28R^2 - 24Rr - 5r^2}{2(p^2 - (2R+r)^2)}$$

Proof. We shall consider the function $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \frac{1}{\cos x}$ convex with f' convex in the inequality (1).

Corollary 2.1. In all triangle holds:

- 1) $p/R + \sum \sin(2A+B)/3 \leq 2 \sum \sin(A+2B)/3$
- 2) $\sum \cos A/2 + \sum \cos(2A+B)/6 \leq 2 \sum \cos(A+2B)/6$

Proof. 1) From inequality (2) applied to concave function $f : (0, \pi) \rightarrow \mathbb{R}$, $f(x) = \sin x$ it shall result:

$$\sum \sin A + \frac{\sum \sin(2A+B)}{3} \leq \frac{2 \sum \sin(A+2B)}{3}$$

or

$$\frac{p}{R} + \frac{\sum \sin(2A+B)}{3} \leq \frac{2 \sum \sin(A+2B)}{3}$$

2) In (2) we consider the concave function $f : (0, \pi) \rightarrow \mathbb{R}$, $f(x) = \frac{\cos x}{2}$.

It shall result:
$$\frac{\sum \cos A}{2} + \frac{\sum \cos(2A+B)}{6} \leq \frac{2\sum \cos(A+2B)}{6}.$$

Corollary 2.2. In all acute triangle ABC holds:

$$1 + \frac{r}{R} + \frac{\sum \cos(2A+B)}{3} \leq \frac{2\sum \cos(A+2B)}{3}.$$

Proof. In (2) we consider the concave function $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \cos x$. It shall result:

$$\sum \cos A + \frac{\sum \cos(2A+B)}{3} \leq \frac{2\sum \cos(A+2B)}{3}$$

or

$$\frac{R+r}{R} + \frac{\sum \cos(2A+B)}{3} \leq \frac{2\sum \cos(A+2B)}{3}$$

Corollary 2.3. In all acute triangle ABC holds :

- 1) $\sum \cos^k A + \sum \cos^k(2A+B) / 3 \geq 2\sum \cos^k(A+2B) / 3$ if $k < 0$
- 2) $\sum \cos^k A + \sum \cos^k(2A+B) / 3 \leq 2\sum \cos^k(A+2B) / 3$ if $k \in [0,1]$

Proof. We shall consider the function

$$f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}, f(x) = \cos^k x,$$

$$f''(x) = -k \cos^{k-2} x (1 - k \sin^2 x)$$

convex for $k < 0$ and concave for $k \in [0,1]$ to which we apply (2).

Corollary 2.4. In all triangle ABC holds:

- 1) $\sum \sin^k A + \sum \sin^k(2A+B) / 3 \geq 2\sum \sin^k(A+2B) / 3$ if $k < 0$
- 2) $\sum \sin^k A + \sum \sin^k(2A+B) / 3 \leq 2\sum \sin^k(A+2B) / 3$ if $k \in [0,1]$

Proof. We shall consider the function: $f : \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \sin^k x$,
 $f''(x) = k \sin^{k-2} x [-\sin^2 x + (k-1)\cos^2 x]$ convex for $k < 0$ and concave for $k \in [0,1]$ to which we apply (2)

Corollary 2.5. In all acute triangle ABC holds:

- 1) $\sum \sin^k 2A + \sum \sin^k(4A+2B) / 3 \geq 2\sum \sin^k(2A+4B) / 3$ if $k < 0$
- 2) $\sum \sin^k 2A + \sum \sin^k(4A+2B) / 3 \leq 2\sum \sin^k(2A+4B) / 3$ if $k \in [0,1]$

Proof. In corollary 2.4 we shall consider: $A \rightarrow \pi - 2A$, $B \rightarrow \pi - 2B$, $C \rightarrow \pi - 2C$.

Corollary 2.6. In all triangle ABC holds:

- 1) $\sum \cos^k A / 2 + \sum \cos^k (2A + B) / 6 \geq 2 \sum \cos^k (A + 2B) / 6$ if $k < 0$
- 2) $\sum \cos^k A / 2 + \sum \cos^k (2A + B) / 6 \leq 2 \sum \cos^k (A + 2B) / 6$ if $k \in [0, 1]$

Proof. In corollary 2.4 we shall consider: $A \rightarrow \frac{\pi - A}{2}$, $B \rightarrow \frac{\pi - B}{2}$, $C \rightarrow \frac{\pi - C}{2}$.

Corollary 2.7. In all acute triangle ABC holds:

$$\frac{2r}{R^2} p + \frac{\sum \sin(4A + 2B)}{3} \leq \frac{2 \sum \sin(2A + 4B)}{3}$$

Proof. From point 2) corollary 2.5. for $k = 1$ result:
 $\sum \sin 2A + \frac{\sum \sin(4A + 2B)}{3} \leq \frac{2 \sum \sin(2A + 4B)}{3}$ and because $\sum \sin 2A = \frac{2r}{R^2} p$ we have
 $\frac{2r}{R^2} p + \frac{\sum \sin(4A + 2B)}{3} \leq \frac{2 \sum \sin(2A + 4B)}{3}$.

Corollary 3.1. In all acute triangle ABC holds:

$$\frac{\frac{p}{R} + \frac{\sum \sin(\pi + (S - 3)A)}{S}}{2S} \leq \frac{2 \sum \cos C \cos((S - 2)(A - B))}{2} \leq \frac{2 \sum \cos A}{2}, S \in \square *$$

Proof. From inequality (3) apply to function: $f : \left(0, \frac{\pi}{2}\right) \rightarrow \square$ concave with concave
 derivate: $f(x) = \sin x$ result:

$$\sum \sin A + \frac{\sum \sin((S - 3)A + \pi)}{S} \leq \sum \left(\frac{\sin((S - 1)A + B)}{S} + \frac{\sin((S - 1)B + A)}{S} \right) \leq \frac{2 \sum \sin(B + C)}{2}$$

equivalent with:

$$\frac{\frac{p}{R} + \frac{\sum \sin(\pi + (S - 3)A)}{S}}{2S} \leq \frac{2 \sum \cos C \cos(S - 2)(A - B)}{2} \leq \frac{2 \sum \cos A}{2}$$

Corollary 3.2. In all acute triangle ABC holds:

$$\frac{\frac{R + r}{R} + \frac{\sum \cos((S - 3)A + \pi)}{S}}{2S} \leq \frac{2 \sum \sin C \cos(S - 2)(A - B)}{2} \leq \frac{2 \sum \sin A}{2}, S \in \square *$$

Proof. From inequality (3) applied to concave function with f' convex $f : \left(0, \frac{\pi}{2}\right) \rightarrow \square$, $f(x) = \cos x$ result

$$\sum \cos A + \frac{\sum \cos((S-3)A + \pi)}{S} \leq \sum \left(\frac{\cos((S-1)A + B)}{S} + \frac{\cos((S-1)B + A)}{S} \right) \leq \frac{2 \sum \sin A}{2}$$

equivalent with:

$$\frac{\frac{R+r}{R} + \frac{\sum \cos((S-3)A + \pi)}{S}}{2S} \leq \frac{2 \sum \sin C}{2} \cos((S-2)) (A-B) \leq \frac{2 \sum \sin A}{2}$$

Corollary 3.3. In all triangle ABC holds:

$$\begin{aligned} \sum \cos A / 2 + \frac{\sum \cos(\pi + (S-3)A - 3)}{2S} &\leq \\ &\leq 2 \cos(\pi - C) / 4 \cos((S-2)A - B) / 4S \leq \quad , S \in \square * \\ &\leq \sum \cos(\pi - A) / 4 \end{aligned}$$

Proof. In (3) consider the concave function f and f' convex function $f : (0, \pi) \rightarrow \square$, $f(x) = \frac{\cos x}{2}$. It shall result:

$$\begin{aligned} \frac{\sum \cos A}{2} + \frac{\sum \cos((S-2)A + B - C)}{2S} &\leq \sum \left(\frac{\cos((S-1)A + B)}{2S} + \frac{\cos((S-1)B + A)}{2S} \right) \leq \\ &\leq \frac{2 \sum \cos(B + C)}{4} \end{aligned}$$

it follows the inequality from the statement.

Corollary 3.4. In all triangle ABC holds:

$$\begin{aligned} \frac{\sum \sin A}{2} + \frac{\sum \sin(\pi + (S-3)A)}{2S} &\leq \frac{2 \sum \sin(\pi - A)}{4} \cos(S-2)(A-B) \\ &\leq \frac{2 \sum \sin(\pi - A)}{4} \leq \quad , S \in \square * \end{aligned}$$

Proof. In (3) we shall consider the concave function with f' concave $f : (0, \pi) \rightarrow \square$, $f(x) = \frac{\sin x}{2}$.

It shall result:

$$\begin{aligned} \frac{\sum \sin A}{2} + \frac{\sum \sin((S-2)A + B + C)}{2S} &\leq \sum \left(\frac{\sin((S-1)A + B)}{2S} + \frac{\sin((S-1)B + A)}{2S} \right) \leq \\ &\leq \frac{2 \sum \sin(\pi - A)}{4} \end{aligned}$$

Corollary 3.5. In all acute triangle ABC holds:

$$\begin{aligned} & \sum \cos^k A + \sum \cos^k (\pi + (S-3)A) / S \geq \\ 1) & \geq \sum \cos^k ((S-1)A+B) / S + \sum \cos^k ((S-1)B+A) / S \geq \quad \text{if } k < 0, S \in \mathbb{R}^* \\ & \geq 2 \sum \sin^k A / 2 \end{aligned}$$

$$\begin{aligned} & \sum \cos^k A + \sum \cos^k (\pi + (S-3)A) / S \leq \\ 2) & \leq \sum \cos^k ((S-1)A+B) / S + \sum \cos^k ((S-1)B+A) / S \leq \quad \text{if } k \in \left[\frac{0,2}{3} \right], S \in \mathbb{R}^* \\ & \leq 2 \sum \sin^k A / 2 \end{aligned}$$

Proof. We shall consider the function $f: \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \cos^k x$ convex for $k < 0$ and concave for $k \in \left[\frac{0,2}{3}\right]$ with f' convex for $k < 0$ and concave for $k \in \left[\frac{0,2}{3}\right]$ to which we apply (3)

Corollary 3.6. In all acute triangle ABC holds:

$$\begin{aligned} & \sum \sin^k A + \sum \sin^k (\pi + (S-3)A) / S \geq \\ 1) & \geq \sum \sin^k ((S-1)A+B) / S + \sum \sin^k ((S-1)B+A) / S \geq \quad \text{if } k < 0, S \in \mathbb{R}^* \\ & \geq 2 \sum \cos^k A / 2 \end{aligned}$$

$$\begin{aligned} & \sum \sin^k A + \sum \sin^k (\pi + (S-3)A) / S \leq \\ 2) & \leq \sum \sin^k ((S-1)A+B) / S + \sum \sin^k ((S-1)B+A) / S \leq \quad \text{if } k \in \left[\frac{0,2}{3} \right], S \in \mathbb{R}^* \\ & \leq 2 \sum \cos^k A / 2 \end{aligned}$$

Proof. We shall consider the function $f: \left(0, \frac{\pi}{2}\right) \rightarrow \mathbb{R}$, $f(x) = \sin^k x$ convex for $k < 0$ and concave for $k \in \left[\frac{0,2}{3}\right]$ with f' concave for $k < 0$ and convex for $k \in \left[\frac{0,2}{3}\right]$ to which we apply (3).

REFERENCES

- [1] Drimbe, M.O., *Inequalities - Ideas and methods*, Ed. Gil, Zalau, 2003.
- [2] Bencze, M., Chang-Lion, Z., Some application of Popoviciu's inequality, *Octagon Mathematical Magazine*, 2(1), pp. 2008.